



The Schinzel conjecture

Jamel Ghannouchi

► To cite this version:

| Jamel Ghannouchi. The Schinzel conjecture. 2014. hal-01077219v3

HAL Id: hal-01077219

<https://hal.science/hal-01077219v3>

Preprint submitted on 25 Oct 2014

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

A proof of the Schinzel conjecture

Jamel Ghanouchi

6 Rue Khansa 2070 Marsa Tunisie

Jamel.ghanouchi@live.com

Abstract

In this document, we deal with the Schinzel conjecture.

Keywords : Schinzel ; Conjecture.

The proof

The Schinzel conjecture states that

$$\forall n > v, v \in \mathbb{N}, \exists x, y, z' \in \mathbb{N} \mid \frac{v}{n} = \frac{1}{x} + \frac{1}{y} + \frac{1}{z'}$$

LEMMA 1

Let

$$u = x + y \quad (1)$$

$$\frac{1}{z} = \frac{1}{x} + \frac{1}{y} \quad (2)$$

Let us build the sequences. If we pose

$$x_1 = x$$

$$y_1 = y$$

And $\forall x_1, y_1, integers, \exists z_1$ verifying

$$\frac{1}{z_1} = \frac{1}{x_1} + \frac{1}{y_1}$$

And

$$z_1 = \frac{xy}{x + y} = z$$

So

$$(x_1 + y_1)z_1 = x_1 y_1$$

And

$$x_1(y_1 - z_1) = x_1 y_1$$

We pose

$$y_2 = y_1 - z_1 = \frac{z_1 y_1}{x_1}$$

Also

$$y_1(x_1 - z_1) = \frac{z_1 x_1}{y_1}$$

We pose

$$x_2 = x_1 - z_1 = \frac{z_1 x_1}{y_1}$$

And

$$x_2 y_2 = z_1^2$$

Which means that

$$x_1 = x_2 + z_1 = x_2 + \sqrt{x_2 y_2}$$

$$y_1 = y_2 + z_1 = y_2 + \sqrt{x_2 y_2}$$

$$u_1 = u = (x_1 + y_1) = (\sqrt{x_2} + \sqrt{y_2})^2 > x_2 + y_2 > 0$$

So

$$x_1 = \sqrt{x_2}(\sqrt{x_2} + \sqrt{y_2}) > x_2 > 0$$

$$y_1 = \sqrt{y_2}(\sqrt{x_2} + \sqrt{y_2}) > y_2 > 0$$

$$z_1 = \frac{x_1 y_1}{x_1 + y_1} = \sqrt{x_2 y_2} > z_2 = \frac{x_2 y_2}{x_2 + y_2} > 0$$

Because $\forall x_2, y_2, \exists z_2$ verifying

$$\frac{1}{z_2} = \frac{1}{x_2} + \frac{1}{y_2}$$

The process is available until infinity. For i

$$u_i = x_i + y_i = (\sqrt{x_{i+1}} + \sqrt{y_{i+1}})^2 > x_{i+1} + y_{i+1} > 0$$

$$x_i = \sqrt{x_{i+1}}(\sqrt{x_{i+1}} + \sqrt{y_{i+1}}) > x_{i+1} > 0$$

$$y_i = \sqrt{y_{i+1}}(\sqrt{x_{i+1}} + \sqrt{y_{i+1}}) > y_{i+1} > 0$$

$$z_i = \frac{x_i y_i}{x_i + y_i} = \sqrt{x_{i+1} y_{i+1}} > z_{i+1} = \frac{x_{i+1} y_{i+1}}{x_{i+1} + y_{i+1}} > 0$$

And, of course

$$\frac{1}{z_{i+1}} = \frac{1}{x_{i+1}} + \frac{1}{y_{i+1}}$$

We have built the sequences.

LEMMA 2

x_i, y_i have an expression

$$x_i = x^{2^{i-1}} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j})^{-1} \quad (\text{H})$$

$$y_i = y^{2^{i-1}} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j})^{-1} \quad (\text{H}')$$

Proof of lemma 2

By traditional induction, for i=2

$$x = \sqrt{x_2}(\sqrt{x_2} + \sqrt{y_2}) = \sqrt{x_2}(x + y)^{\frac{1}{2}}$$

$$x_2 = \frac{x^2}{x + y}$$

Also

$$y = \sqrt{y_2}(\sqrt{x_2} + \sqrt{y_2}) = \sqrt{y_2}(x + y)^{\frac{1}{2}}$$

$$y_2 = \frac{y^2}{x + y}$$

We suppose (H) and (H') true for i, then

$$x_i = \sqrt{x_{i+1}}(\sqrt{x_{i+1}} + \sqrt{y_{i+1}}) = \sqrt{x_{i+1}}(x_i + y_i)^{\frac{1}{2}}$$

$$x_{i+1} = \frac{x_i^2}{x_i + y_i} = x^{2^i} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j})^{-2} (x^{2^{i-1}} + y^{2^{i-1}})^{-1} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j}) = x^{2^i} \prod_{j=0}^{j=i-1} (x^{2^j} + y^{2^j})^{-1}$$

Also

$$y_i = \sqrt{y_{i+1}}(\sqrt{x_{i+1}} + \sqrt{y_{i+1}}) = \sqrt{y_{i+1}}(x_i + y_i)^{\frac{1}{2}}$$

$$y_{i+1} = \frac{y_i^2}{x_i + y_i} = y^{2^i} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j})^{-2} (x^{2^{i-1}} + y^{2^{i-1}})^{-1} \prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j}) = y^{2^i} \prod_{j=0}^{j=i-1} (x^{2^j} + y^{2^j})^{-1}$$

It is proved, but $\forall x, y$

$$\prod_{j=0}^{j=i-2} (x^{2^j} + y^{2^j}) = \frac{x^{2^{i-1}} - y^{2^{i-1}}}{x - y}$$

Then, for $x \neq y$

$$x_i = \frac{x^{2^{i-1}}}{x^{2^{i-1}} - y^{2^{i-1}}} (x - y)$$

$$y_i = \frac{y^{2^{i-1}}}{x^{2^{i-1}} - y^{2^{i-1}}} (x - y)$$

LEMMA 4

Fermat equation has the constant

$$x_i - y_i = x - y$$

But, with the same building, we have the sequences

$$\frac{v}{n} = \frac{1}{v/n} = \frac{1}{z} + \frac{1}{z'} = \frac{1}{z''}$$

$$z_i = \frac{z^{2^{i-1}}}{z^{2^{i-1}} - z'^{2^{i-1}}} (z - z')$$

$$z'_i = \frac{z'^{2^{i-1}}}{z^{2^{i-1}} - z'^{2^{i-1}}} (z - z')$$

$$z_i - z'_i = z - z'$$

Let

$$w_i = \frac{z^{a 2^{i-1}}}{z^{a 2^{i-1}} - z'^{a 2^{i-1}}} (z - z')$$

$$p_i = \frac{z'^{a 2^{i-1}}}{z^{a 2^{i-1}} - z'^{a 2^{i-1}}} (z - z')$$

$$w'_i = \frac{z^{b 2^{i-1}}}{z^{b 2^{i-1}} - z'^{b 2^{i-1}}} (z - z')$$

$$p'_i = \frac{z'^{b 2^{i-1}}}{z^{b 2^{i-1}} - z'^{b 2^{i-1}}} (z - z')$$

$$w''_i = \frac{z^{(b-a)2^{i-1}}}{z^{(b-a)2^{i-1}} - z^{(b-a)2^{i-1}}} (z - z')$$

$$p''_i = \frac{z^{(b-a)2^{i-1}}}{z^{(b-a)2^{i-1}} - z^{(b-a)2^{i-1}}} (z - z')$$

$$w_i - p_i = z - z' = w'_i - p'_i = z_i - z'_i = w''_i - p''_i$$

But

$$\frac{w_i}{p_i} = \frac{z^{a2^{i-1}}}{z^{a2^{i-1}}}$$

$$\frac{w'_i}{p'_i} = \frac{z^{b2^{i-1}}}{z^{b2^{i-1}}} = \frac{z^{a2^{i-1}}}{z^{a2^{i-1}}} \frac{z^{(b-a)2^{i-1}}}{z^{(b-a)2^{i-1}}} = \frac{w_i w''_i}{p_i p''_i}$$

$$\Rightarrow \frac{w'_i p_i - p'_i w_i}{p'_i w_i} = \frac{(w'_i - p'_i) p_i + p'_i (p_i - w_i)}{p'_i w_i} = \frac{(z - z')(p'_i - p_i)}{p'_i w_i}$$

$$= \frac{w''_i - p''_i}{w''_i} = \frac{z - z'}{w''_i}$$

$$(p'_i - p_i) w''_i \neq p'_i w_i \Rightarrow z - z' = 0$$

It means that

$$\frac{v}{n} = \frac{2}{z} = \frac{2}{x} + \frac{2}{y} = \frac{1}{x} + \frac{1}{y} + \frac{1}{z'}$$

And the conjecture is not true.

Conclusion

By series of formulas and sequances, we have proved that the Schinzel conjecture is false.